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QUESTION 1
You executed the following query:

SELECT oldest_flashback_scn, oldest_flashback time FROM V$FLASHBACK_DATABASE_LOG; Considering that all
the redo logs are available, what information can you derive from the output of the preceding query?

A. The time when the last flashback operation in your database was performed
B. The time when the first flashback operation in your database was performed
C. The approximate time and the lowest system change number (SCN) to which you can flash back your database

D. The system change number (SCN) and the time when the Flashback Database was enabled in the database
instance

Correct Answer: C

QUESTION 2

Which statement is true regarding the creation of nested plans using the Oracle Resource Manager?
A. Only one nested subplan is allowed per parent plan

B. The plans can be nested up to four levels.

C. Nested plans only control resources used by recursive SQL

D. Nested plans control only the degree of parallelism and 1/O requests

E. Each nested plan gets a proportion of the CPU resources assigned to its parent group.

Correct Answer: E

QUESTION 3

You are managing an Oracle Database 11g instance with ASM storage. You lost an ASM disk group DATA. You have
RMAN backup of data as well as ASM metadata backup. You want to re-create the missing disk group by using the
ASMCMD md_restore command.

Which of these methods would you use to achieve this? (Choose all that apply.)

A. Restore the disk group with the exact configuration as the backed-up disk group, using the same disk group name,
same set of disks, failure group configurations, and data on the disk group.

B. Restore the disk group with the exact configuration as the backed-up disk group, using the same disk group name,
same set of disks, and failure group configurations.

C. Restore the disk group with changed disk group specification, failure group specification, disk group name, and other
disk attributes.
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D. Restore metadata in an existing disk group by passing the existing disk group name as an input parameter.

Correct Answer: BCD

QUESTION 4

You want to track and store all transactional changes to a table over its lifetime. To accomplish this task,
you enabled Flashback Data Archive with the retention of 5 years. After some time, the business
requirement changed and you were asked to change the retention from 5 years to 3 years.

To accomplish this, you issued the following command:

ALTER FLASHBACK ARCHIVE flal MODIFY RETENTION 3 YEAR; What is the implication of this
command?

A. The command produces an error because the retention time cannot be reduced.

B. All historical data is retained but the subsequent flashback data archives are maintained for only three years.
C. All historical data is purged and the new flashback data archives are maintained for three years.

D. All historical data older than three years is purged from the flashback archive FLAL.

Correct Answer: D

QUESTION 5

You plan to use Flashback Drop feature to recover a dropped table SALES_EMP. No other table with the same name
exists in the schema.

You query RECYCLEBIN and find multiple entries for the SALES_EMP table as follows: You then issue the following
statement to recover the table:

SQL> SELECT object_name, original_name, droptime FROM recyclebin; What would be the outcome of the precedent
statement?

OBJECT_NAME OELIGINEL_NHME DROPTIME

BINS /mODrBVIORFGORAS3dC-FPW==50 SALES_EM? 2007-12-07:11:08:55
BIN$2DelssLeQTqgH/n80Rm2JQ==50 SALES EMP 2007-12-07:11:11:38
BINSUugroNodQy6eouDtaA+XOVw==50 SALES EMP Z0O0T7T=-12-07:11:08:18

SQL> FLASHBACK TABLE sales emp TO BEFORE DROP;

A. It retrieves the latest version of the table from the recycle bin
B. It retrieves the oldest version of the table from the recycle bin

C. It retrieves the version of the table for which undo information is available
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D. It returns an error because the table name is not specified as per the names in the OBJECT_NAME column

Correct Answer: A
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